1. Decide if each sum is closest to 0, 1 5, 01 1. Explain your reaspning,

a.g+-3%'==l b.0.5+6?‘*”§' ‘ c.gli%w%::!
Z is o little 0.5=1% é%gmg‘%.
more than 7.1 | o, 5=2 =
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2. Multiple Cheice Which sum 1s closest o 17 i%laﬁa your soning.%_

3 4N 1 3.2
A05+3 c.3+2
5+0.03
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-ﬁ =0. 28
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3. AtD. J's Drink Stand, Erika ordered a cup of fruit punch made using the
following recipe.
41 cup lemonade

2. %g cup cranberry juice

‘-g (3 cup orange juice

What fraction of Erika’s cup will be orange juice? Write a number
sentence to support your answer,

ifai»wﬁm §
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4. Mr. Gomez ordered three pizzas for some members of hiis cross-country
team. The four of them ate the following amounts.

Scott ate % of a pizza.

" s c

Nate ate 75 of a pizza.
Dra-Wei ate % of a pizza.
Mr, Gomez ate § of a pizza.

a, How many pizzas did they eat? Write a number sentence to support
YOUY answer.

2+ LS 10 - 3 2. pizz2a$
Z iz 12 12 o 2z ?

b. How many pizzas were left? Write a mumber sentence to support
Your answer.

e B A 1228
o) 1&‘2;. m_wz_awp

5. Find each sum or difference. Show all your work.
2.4 2 3
a. 3T g b, 35+ 78

12, 12 222 4

1 +
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1. Bob is making treat bags for his daughter’s birthday party. He decided to
use the recipe below for each bag. He needs to make 6 bags so each friend
can have one, and he wants to make 1 5 bag for his two- year—old 10 have.
How much of each ingredient will he need to make the 6—- bags? Write

number senfences 10 SUPPOIt your enswer.
* J‘ =2 7 s

1. ecipe for 1 Bag
H (@ + = L’g ﬁ%iof cup of peanuts /ﬂ
3

7 cup of pretzels 1. - Em ¢y
%cup of raisins e 2 ® (ﬁ 2 ng PS

/% cup of popcorn
Z x5 =4z wps

2. On a particular map of Denmark, 1 inch represents 12 miles.

b = 12 mitles

a. What does 2; inches on the map represest? Write a number sentence
and show your waork.

2?_ ¥ !2:"*3@ mi les

. What does 3% inches on the map represent? Write 2 number sentence
and show your work.

3;??\5&\&& x L miles =36t9=YS
o | miie§
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3. a, Caroline had a pan oflasagna % full, Some friends visited her and ate
% of what was in the pan. How much lasagna did her friends eat? Use a
drawing and a number sentence {0 SUPpoOrt your answer.

e 23 - o b pan

b. Savannah had a lasagna pan % full. Some friends visited her and ate
2 of what was in the pan. How much lasagna did her friends eat?
‘Use a drawing and a rivunber sentence to support your answer,

¢. How is what happened with Savannaly's pan of lasagna different from
what happened with Caroline's pan of lasagna? How is what happened
with Savannah’s pan of lasagna the same as what happened with

- Caroline’s pan of lasa

hey are di?fémn‘i‘ becavse each gmup
g;avied with & different part of the whﬁiﬁ
[2an. The “ﬁ"’é@ﬁéi ate $he came &mgm“ﬁ’ o
lAsagne- in both cages.

4, Write a story’problem to fit the calculation below, Explain why the
calculation matches the story.

i
1'3'>(4

EXMAPLE ® .
when | (ame home there were |5 piz24s
n the f mmﬁ V ode ?it?@é th@i’ Was

left How uch Aid veut? "

1% %= Gonkd (13 of o piza -
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